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QUESTION 1

An organization decides to use Dell EMC Isilon CloudPools with ECS as the cloud storage target. During initial
integration, they discover that they are unable to create a cloud storage account.

What can be the reason for this issue?

A. Object local user is configured as namespace admin
B. Management user is configured as a User Admin

C. Incorrect cloud provider type selected

D. ECS bucket was already created

Correct Answer: C

QUESTION 2

What is a correct statement concerning the use of ECS as an LTR solution with DD Cloud Tier?
A. Cloud units configured as a DD Cloud Tier can be ECS, public, or hybrid cloud

B. Data is moved directly from the active tier to ECS

C. Backups are cloned to the active tier via the app-based policy

D. Mission critical applications are backed up first to the DD Cloud Tier

Correct Answer: A

QUESTION 3

An administrator is trying to configure a Cloud Unit in Data Domain System Manager for access to ECS and receives
the following error:

Couldn\\'t connect to server.
What needs to be checked?
A. 9020 or 9021
B. 9022 or 9023
C. 9024 or 9025
D. 9026 or 9027

Correct Answer: A
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QUESTION 4

A storage administrator is trying to create a new bucket using s3curl.pl. They use a URL pointing to their load balancer.
The SSL connection is terminated on the load balancer.

What port number should be used at the command line?
A. 9020
B. 9021
C. 9023
D. 9025

Correct Answer: A

QUESTION 5

How does a user apply a license on an ECS system?
A. Within the ECS portal

B. Using the command line interface (CLI)

C. Through SSH

D. Using the ECS Rest API

Correct Answer: A
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